SS LANGUAGE 2.8

Start

	I think the sentence is
	true.

false.

	
	

	No, it is not

Yes, it is
	because
	in squares the second diagonal bisects the first diagonal into 2. equal parts as well.

rectangles are the only quadrilaterals that the second diagonal. bisects the first diagonal into 2 equal parts. 


Main teaching

	I can see
	 (shape)

	No, they have not.

	Yes, two pairs of……………………………………………..

	I placed the
	(shape)
	 on the

  in the
	 left.

 right.

 top.

 bottom.

 middle.

	I chose the
	horse.
candle.

boat.

	Yes,
No,
	It was.
It was not.


